## BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE OAKWOOD ESTATES SECTION 5
HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12
CITY OF WALLER, HARRIS COUNTY, TEXAS
FEBRUARY 13, 2025
LJA ENGINEERING, INC.
A.GUIJOSA
FEBRUARY 14, 2025

BIDDER NAME	BASE BID
1) R CONSTRUCTION CIVIL, LLC	\$1,734,767.60
2) TEXASITE, LLC	\$1,840,769.00
3) BLAZEY CONSTRUCTION SERVICES LLC	\$1,996,728.20

## **CALENDAR DAYS 30/45**



2990-0015D (9.2)

I, Kirsten K. Wilson, PE, hereby certify these bid tabulations to be true and correct.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE OAKWOOD ESTATES SECTION 5
HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12
CITY OF WALLER, HARRIS COUNTY, TEXAS
FEBRUARY 13, 2025
LJA ENGINEERING, INC.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.

COMPLETE IN PLACE

A.GUIJOSA FEBRUARY 14, 2025 2990-0015D (9.2)

				1) R CONSTRU	ICTION CIVIL, LLC	2) TEXAS	ITE, LLC	3) BLAZEY CONSTRU	JCTION SERVICES LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
WATER 1	ITEMS . 12" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2322	\$57.00	\$132,354.00	\$58.00	\$134,676.00	\$67.00	\$155,574.00
2	. 12" PVC RESTRAINED JOINT WATER LINE, C-900, DR 14, CLASS 305, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	870	\$140.00	\$121,800.00	\$133.00	\$115,710.00	\$144.00	\$125,280.00
3	. 6" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	448	\$26.00	\$11,648.00	\$26.00	\$11,648.00	\$29.00	\$12,992.00
4	. 6" PVC RESTRAINED JOINT WATER LINE, C-900, DR 14, CLASS 305, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	27	\$120.00	\$3,240.00	\$93.00	\$2,511.00	\$98.00	\$2,646.00
5	. 4" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	131	\$24.00	\$3,144.00	\$20.00	\$2,620.00	\$20.00	\$2,620.00
6	. 4" PVC RESTRAINED JOINT WATER LINE, C-900, DR 14, CLASS 305, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	26	\$81.00	\$2,106.00	\$55.00	\$1,430.00	\$57.00	\$1,482.00
7	DRY AUGER FOR 20" CASING AND 12" WATER LINE, (EXCLUDES CASING AND CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	125	\$495.00	\$61,875.00	\$175.00	\$21,875.00	\$359.00	\$44,875.00
8	20" STEEL CASING FOR 12" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	125	\$66.00	\$8,250.00	\$68.00	\$8,500.00	\$97.00	\$12,125.00
9	. TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	2740	\$1.00	\$2,740.00	\$1.00	\$2,740.00	\$0.30	\$822.00
10	. "FAR SIDE" 1" WATER SERVICE LEAD, SDR-9, HDPE, CTS, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, TRACER WIRE, PLUG, ALL JOINTS AND FITTINGS, CORPORATION STOP & CURB STOP MANUFACTURED BY FORD METER BOX, METER NIPPLE, MARKER, TAP AND SLEEVE, ETC., COMPLETE IN PLACE	EA	42	\$1,600.00	\$67,200.00	\$1,463.00	\$61,446.00	\$1,091.00	\$45,822.00
11	. "NEAR SIDE" 1" WATER SERVICE LEAD, SDR-9, HDPE, CTS, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, TRACER WIRE, PLUG, ALL JOINTS AND FITTINGS, CORPORATION STOP & CURB STOP MANUFACTURED BY FORD METER BOX, METER NIPPLE, MARKER, TAP AND SLEEVE, ETC., COMPLETE IN PLACE	EA	6	\$775.00	\$4,650.00	\$655.00	\$3,930.00	\$766.00	\$4,596.00
12	. 12" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	4	\$4,000.00	\$16,000.00	\$3,772.00	\$15,088.00	\$3,872.00	\$15,488.00
13	. 12" AWWA GATE VALVE AND BOX, INSTALLED WITHIN CONCRETE PAD, COMPLETE IN PLACE	EA	2	\$4,000.00	\$8,000.00	\$4,034.00	\$8,068.00	\$3,872.00	\$7,744.00
14	. 6" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	2	\$1,600.00	\$3,200.00	\$1,355.00	\$2,710.00	\$1,378.00	\$2,756.00
15	. 4" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	1	\$1,300.00	\$1,300.00	\$1,104.00	\$1,104.00	\$1,119.00	\$1,119.00
16	. FLUSHING VALVE UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$7,700.00	\$61,600.00	\$7,106.00	\$56,848.00	\$7,720.00	\$61,760.00
17	PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, ALL SIZES,	EA	3	\$1,600.00	\$4,800.00	\$1,678.00	\$5,034.00	\$1,930.00	\$5,790.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:

LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE OAKWOOD ESTATES SECTION 5 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, HARRIS COUNTY, TEXAS FEBRUARY 13, 2025 LIA ENGINEERING, INC. A.GUIJOSA

			1) R CONSTRUC	CTION CIVIL, LLC	2) TEXASI	TE, LLC	3) BLAZEY CONSTRU	ICTION SERVICES LLC
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
18. WET CONNECTION OF PROPOSED 12" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$675.00	\$675.00	\$1,490.00	\$1,490.00	\$1,411.00	\$1,411.00
<ol> <li>BLUE FINKLET TEST STATION FOR WATER LINE, AS REQUESTED BY CITY OF WALLER, COMPLETE IN PLACE</li> </ol>	EA	1	\$2,000.00	\$2,000.00	\$2,998.00	\$2,998.00	\$747.00	\$747.00
SUBTOTAL WATER ITEMS			_	\$516,582.00		\$460,426.00		\$505,649.00
SANITARY ITEMS								
<ol> <li>12" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE</li> </ol>	LF	2081	\$54.00	\$112,374.00	\$55.00	\$114,455.00	\$67.00	\$139,427.00
2. 12" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12' - 16' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	184	\$58.00	\$10,672.00	\$59.00	\$10,856.00	\$75.00	\$13,800.00
3. 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' - 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	89	\$45.00	\$4,005.00	\$54.00	\$4,806.00	\$43.00	\$3,827.00
4. 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	695	\$36.00	\$25,020.00	\$57.00	\$39,615.00	\$46.00	\$31,970.00
5. DRY AUGER FOR 20" CASING FOR 12" SANITARY SEWER, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	69	\$510.00	\$35,190.00	\$179.00	\$12,351.00	\$389.00	\$26,841.00
6. 20" STEEL CASING FOR 12" SANITARY SEWER, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	125	\$66.00	\$8,250.00	\$68.00	\$8,500.00	\$97.00	\$12,125.00
7. TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	2978	\$1.00	\$2,978.00	\$1.00	\$2,978.00	\$0.30	\$893.40
8. STANDARD SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES PLASTIC INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	17	\$2,900.00	\$49,300.00	\$3,074.00	\$52,258.00	\$2,888.00	\$49,096.00
9. EXTRA VERTICAL DEPTH OF SANITARY SEWER MANHOLES (OVER 8' DEPTH), ALL SIZES, COMPLETE IN PLACE	VF	31	\$180.00	\$5,580.00	\$191.00	\$5,921.00	\$168.00	\$5,208.00
10. "FAR SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$2,400.00	\$9,600.00	\$2,815.00	\$11,260.00	\$3,153.00	\$12,612.00
11. "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	23	\$1,200.00	\$27,600.00	\$890.00	\$20,470.00	\$1,204.00	\$27,692.00
12. 12" SANITARY SEWER PLUG, AND INSTALL 3" PVC MARKER TO 1' ABOVE GROUND, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$180.00	\$180.00	\$678.00	\$678.00	\$274.00	\$274.00
13. REMOVE AND OFFSITE DISPOSAL OF EXISTING 12" PLUG AND CONNECT TO PROPOSED SANITARY MANHOLE , ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,700.00	\$1,700.00	\$678.00	\$678.00	\$904.00	\$904.00
14. STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$200.00	\$2,000.00	\$403.00	\$4,030.00	\$560.00	\$5,600.00

FEBRUARY 14, 2025

2990-0015D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES

TO SERVE OAKWOOD ESTATES SECTION 5		
	TV DISTRICT NO. 43	
HARRIS-WALLER COUNTIES MUNICIPAL UTILIT	IY DISTRICT NO. 12	
CITY OF WALLER, HARRIS COUNTY, TEXAS		
FEBRUARY 13, 2025		
LIA ENGINEERING, INC.		
A.GUIJOSA		
FEBRUARY 14, 2025		
•		
2990-0015D (9.2)		
1) R CONSTRUCTION CIVIL, LLC	2) TEXASITE, LLC	3) BLAZEY CONSTRUCTION SERVICES LLC

NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
15.	FINAL ADJUSTMENT OF SANITARY SEWER MANHOLE TO FINAL GRADE, COMPLETE IN PLACE	EA	17	\$75.00	\$1,275.00	\$1.00	\$17.00	\$30.00	\$510.00
SUBTOT	AL SANITARY ITEMS			-	\$295,724.00	-	\$288,873.00	_	\$330,779.40
STORM 1.	ITEMS  24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND	LF	1026	\$88.00	\$90,288.00	\$88.00	\$90,288.00	\$82.00	\$84,132.00
	BACKFILL, ALL DEPTHS, COMPLETE IN PLACE								, , ,
2.	42" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND	LF	1178	\$210.00	\$247,380.00	\$202.00	\$237,956.00	\$191.00	\$224,998.00
2	BACKFILL, ALL DEPTHS, COMPLETE IN PLACE 48" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND	LF	786	\$240.00	\$188,640.00	\$245.00	\$192,570.00	\$230.00	\$180,780.00
э.	BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	780	\$240.00	\$188,040.00	3243.00	\$192,370.00	\$250.00	\$180,780.00
4.	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	9	\$3,000.00	\$27,000.00	\$3,944.00	\$35,496.00	\$3,393.00	\$30,537.00
5.	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$5,000.00	\$40,000.00	\$4,756.00	\$38,048.00	\$5,544.00	\$44,352.00
6.	STAGE I - REINFORCED CONCRETE TYPE "C" INLET, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	13	\$1,500.00	\$19,500.00	\$1,858.00	\$24,154.00	\$1,905.00	\$24,765.00
7.	STAGE II - REINFORCED CONCRETE TYPE "C" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	13	\$2,700.00	\$35,100.00	\$2,088.00	\$27,144.00	\$1,702.00	\$22,126.00
8.	I, Kirsten K. Wilson, PE, hereby certify these bid tabulations to be true and	EA	2	\$1,300.00	\$2,600.00	\$1,856.00	\$3,712.00	\$1,749.00	\$3,498.00
9.	correct. STAGE II - REINFORCED CONCRETE TYPE "C-1" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$3,000.00	\$6,000.00	\$2,900.00	\$5,800.00	\$2,062.00	\$4,124.00
10.	REINFORCED CONCRETE TYPE "E" INLET, ALL SIDES OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$2,900.00	\$17,400.00	\$3,944.00	\$23,664.00	\$2,970.00	\$17,820.00
11.	AUGER, BORE AND JACK, OR TUNNEL FOR 48" RCP, (EXCLUDES LINE PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	120	\$965.00	\$115,800.00	\$820.00	\$98,400.00	\$639.00	\$76,680.00
12.	TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	2870	\$1.00	\$2,870.00	\$1.00	\$2,870.00	\$0.30	\$861.00
13.	"BREAK INTO EXIST CONCRETE STM. M.H. AND CONNECT PROP. 48"" STM. SWR. SHALL INCLUDE BYPASS PUMPING AS NEEDED & DIRECTED BY THE ENGINEER. COMPLETE IN PLACE"	EA	1	\$700.00	\$700.00	\$678.00	\$678.00	\$688.00	\$688.00
14.	FINAL ADJUSTMENT OF STORM SEWER MANHOLE TO FINAL GRADE, COMPLETE IN PLACE	EA	18	\$75.00	\$1,350.00	\$1.00	\$18.00	\$30.00	\$540.00
15.	EXCAVATION AND GRADING OF DRAINAGE SWALE, SIDE SLOPE VARIES - V-BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION OF NEW MATERIAL TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	4495	\$3.00	\$13,485.00	\$6.00	\$26,970.00	\$3.00	\$13,485.00
SUBTOT	AL STORM ITEMS			-	\$808,113.00	-	\$807,768.00	_	\$729,386.00

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE OAKWOOD ESTATES SECTION 5 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, HARRIS COUNTY, TEXAS FEBRUARY 13, 2025 LJA ENGINEERING, INC. A.GUIJOSA

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

				1) R CONSTRUCTION CIVIL, LLC		2) TEXASITE, LLC		3) BLAZEY CONSTRU	JCTION SERVICES LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
1. F S	AND DEMOLITION ITEMS  IEMOVAL AND OFF-SITE DISPOSAL OF ALL BUILDINGS, FOUNDATIONS,  TRUCTURES, CONCRETE PADS, ELECTRICAL, WATER LINES, SEWER LINES,  EPTIC SYSTEMS AND DEBRIS FOR A CLEAN PROJECT SITE, COMPLETE IN  LACE, COMPLETE IN PLACE	LS	1	\$40,000.00	\$40,000.00	\$197,200.00	\$197,200.00	\$263,448.00	\$263,448.00
 	EUT, PLUG AND CAP EXISTING WATER WELL, ALL SIZES AND DEPTHS, NCLUDE CUTTING WELL 15 FEET BELOW NATURAL GROUND, PLUGGING ND CAPPING IN ACCORDANCE WITH STATE AND FEDERAL REQUIREMENTS, VELL PLUGGING REPORTS, EXCAVATION AND ONSITE HAUL OF BACKFILL VATERIAL TO VOID LOCATION, COMPACTION OF BACKFILL TO 95% TANDARD PROCTOR DENSITY IN MAXIMUM 8" LIFTS, COMPLETE IN PLACE	EA	1	\$6,000.00	\$6,000.00	\$13,920.00	\$13,920.00	\$17,962.00	\$17,962.00
	ADDITIONAL WASTE CONTAINER, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	10	\$175.00	\$1,750.00	\$116.00	\$1,160.00	\$240.00	\$2,400.00
	ROVIDE COPY OF THE WATER WELL PLUGGING REPORTS, COMPLETE IN LACE	EA	1	\$1,800.00	\$1,800.00	\$1,740.00	\$1,740.00	\$898.00	\$898.00
	ROVIDE COPY OF THE ON SITE SEWAGE FACILITY (OSSF) DECOMMISSIONING REPORT, COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$6,264.00	\$6,264.00	\$898.00	\$898.00
	REMOVE HOG WIRE FENCE. ROLL WIRE IN ROLLS AND STACK POST ONSITE OR REMOVAL BY OTHERS, COMPLETE IN PLACE	LF	960	\$3.51	\$3,369.60	\$6.00	\$5,760.00	\$12.00	\$11,520.00
	REMOVE AND OFFSITE DISPOSAL OF BARBED WIRE FENCE, COMPLETE IN LACE	LF	350	\$6.00	\$2,100.00	\$6.00	\$2,100.00	\$8.00	\$2,800.00
8. F	EMOVE AND OFFSITE DISPOSAL OF WOOD FENCE, COMPLETE IN PLACE	LF	150	\$12.00	\$1,800.00	\$23.00	\$3,450.00	\$14.00	\$2,100.00
	ELEARING AND GRUBBING, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$7,540.00	\$7,540.00	\$52,211.00	\$52,211.00
	CHIPPING AND OFFSITE DISPOSAL OF CLEARED AND GRUBBED MATERIAL,	LS	1	\$10,000.00	\$10,000.00	\$7,540.00	\$7,540.00	\$7,185.00	\$7,185.00
	CUT, REMOVAL, AND DISPOSAL OF EXISTING 20" STEEL CASING, COMPLETE IN PLACE	LF	75	\$35.00	\$2,625.00	\$29.00	\$2,175.00	\$30.00	\$2,250.00
	REMOVE AND DISPOSE OF ALL EXISTING TREES ON SITE, COMPLETE IN	LS	1	\$1.00	\$1.00	\$1.00	\$1.00	\$9,580.00	\$9,580.00
SUBTOTA	CLEARING AND DEMOLITION ITEMS			_	\$81,245.60	-	\$248,850.00	<del>-</del>	\$373,252.00
1. 9	NEOUS ITEMS TORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES SENERAL SOURCE CONTROLS, COMPLETE IN PLACE	LS	1	\$1,400.00	\$1,400.00	\$1,392.00	\$1,392.00	\$1,647.00	\$1,647.00
	NSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND EGRADE AREA TO MATCH FINISHED GRADE COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$2,900.00	\$2,900.00	\$2,515.00	\$2,515.00
	NSTALL, MAINTAIN, AND REMOVE CONCRETE WASHOUT AREA, COMPLETE N PLACE	EA	1	\$500.00	\$500.00	\$1,740.00	\$1,740.00	\$629.00	\$629.00
4. 1	NLET PROTECTION BARRIER FOR STAGE II INLET, COMPLETE IN PLACE	EA	15	\$50.00	\$750.00	\$11.00	\$165.00	\$66.00	\$990.00
	XISTING INLET PROTECTION BARRIER FOR STAGE II INLET, COMPLETE IN LACE	EA	2	\$50.00	\$100.00	\$116.00	\$232.00	\$66.00	\$132.00

FEBRUARY 14, 2025

2990-0015D (9.2)

FRN F-1386 LJA Engineering, Inc.

## BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

TOTAL AMOUNT BASE BID

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE OAKWOOD ESTATES SECTION 5 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, HARRIS COUNTY, TEXAS FEBRUARY 13, 2025 LIA ENGINEERING, INC.
A.GUIJOSA FEBRUARY 14, 2025

			_						
				1) R CONSTRU	CTION CIVIL, LLC	2) TEXA	SITE, LLC	3) BLAZEY CONSTRI	JCTION SERVICES LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
6.	INSTALL, MAINTAIN AND REMOVE REINFORCED FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	10283	\$1.00	\$10,283.00	\$1.00	\$10,283.00	\$2.60	\$26,735.80
7.	ADDITIONAL COST FOR UNSATISFACTORY SOIL CONDITIONS FOR MANHOLES, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$350.00	\$350.00	\$580.00	\$580.00	\$599.00	\$599.00
8.	EXTRA CEMENT STABILIZED SAND BACKFILL, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	10	\$22.00	\$220.00	\$34.00	\$340.00	\$43.00	\$430.00
9.	DEWATERING FOR WATER LINE, ALL SIZES, ALL DEPTHS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00	\$20.00	\$4,000.00	\$27.00	\$5,400.00
10.	DEWATERING FOR SANITARY SEWER, ALL SIZES, ALL DEPTHS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00	\$20.00	\$4,000.00	\$27.00	\$5,400.00
11.	DEWATERING FOR STORM SEWER, ALL SIZES, ALL DEPTHS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00	\$20.00	\$4,000.00	\$27.00	\$5,400.00
12.	WOOD MATS AT ALL LOCATIONS WHERE THE CONTRACTOR CROSSES EXISTING PIPELINES, AS REQUIRED BY PIPELINE REPRESENTATIVE(S), COMPLETE IN PLACE	LS	1	\$6,000.00	\$6,000.00	\$5,220.00	\$5,220.00	\$7,784.00	\$7,784.00
SUBTOT	AL MISCELLANEOUS ITEMS			P. 81	\$33,103.00	_	\$34,852.00	_	\$57,661.80
BID SUN	MMARY								
WATER	TEMS				\$516,582.00		\$460,426.00		\$505,649.00
SANITAF	RY ITEMS				\$295,724.00		\$288,873.00		\$330,779.40
STORM	ITEMS	$\sqrt{}$			\$808,113.00		\$807,768.00		\$729,386.00
CLEARIN	G AND DEMOLITION ITEMS				\$81,245.60		\$248,850.00		\$373,252.00
MISCELL	ANEOUS ITEMS				\$33,103.00		\$34,852.00		\$57,661.80

2990-0015D (9.2)

\$1,734,767.60

\$1,840,769.00

\$1,996,728.20